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ECONOMICS
( Honours Core )
Paper : ECO-HC-3016
( Intermediate Microeconomics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
OO 2NIR Tag

(a) What is cardinal utility?
RS SocIfarer & 9

(b) State one assumption of utjjjt, analysi
S.
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What is production function?

e I i g

Define income effect.
SR R Sige gy |

What is Mmargina] rate of substitution?

AT 2 3R et 6 3@ 2

What is the shape of indifference curve in
case of perfect substitutes?

141%@311@1@@@%«%@%&@%
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Define expansion path.

STEPTRY *19 A5 w3 |

What is meant by inter-temporal choice?
STBETRS 217w e 5 o 2

Define Opportunity cost.
IR IR Sgwy foa |

State the Concept of ‘shut-down point’ of
a firm.
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(3)

i of the following
2. Write short answers
2x5=10
questions :

o AT 5 e i -

(a) What is meant by budget space or set?

Wﬁmﬂﬂ?ﬁw%ﬁq

(b) Distinguish between gross demand and
net demand.

@Ww@ﬁs@ﬂ?mm@ﬁcﬁw1

(c) State the two conditions of consumer’s
equilibrium under indifference curve

approach.
fere (1 REATS CSToR. sremR 58 10
TrEy 91

(d) Distinguish between explicit cost and
implicit cost.

P I SE ATV T TSR ofyefay fopq |

(e) State the concept of optimum firm.
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3. Answer the followin g questions (any four) : () Derive average fixed cost curve from total
5x4=20 fixed cost curve.

Wﬁmﬁa%@ﬁm(ﬁmﬂﬁ‘m): T fem T8 @R TS R @ ez
<91 |
el
& z;t::n the help of indifference curves,
gui d : 2
inferioy ;O}Ldl;etween normal goods an 4. Ansoven.the It R cstions e
' worq 2pqCae s i
PR G e geRe A O e
mﬁhmm#ﬂ foefg <41 | (@) Define indifference curve. Explain their
properties. 2+8=10
% i’:rplain the concepts risk averter, risk e e 7@ 1 caféieprz <
€r and risk neutral individuals. 4 |
'Ii’
En? R, ez SECAE T RP s or / g1
En ! Critically discuss ™€ law of variable
(c) Brieﬂy proportion. 10
e B o concept Of TR e TS R e
3 Ricizie sl
(d) By (b) What is least cost COmbination of inputs?
Briefly sta anigs. « of Discuss how least Cost combination of
Perfecyy, o° the ~characteris inputs is attained With the help of
OH OMmpetitive market. isoquant and isocost lines, 10
S
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’ 0 hoy, a consumer can reduce risk. S 291 =4, reare F90
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(6)
Or /[ g
Or / TodT Explain the concepts of total fixed cost,

total variable cost and total cost. How are
they related to each other? Explain.
2+2+2+4=10
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Explain inter-temporal choice of a
consumer with the help of a diagram. 10

R e - B
R R

(c)

F Short-ryp equilibrium of a firm
under Perfect competition. 10 .

1 Aorors gy ot ZFFS O
SO S %, gy <41 '

What the
i : ts? Show
increasy Isoquan

d decreasing
retumng o Constant an

; to - the help of
1squantS- scale with 1 4343+3=10
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(d) D |
: SI?i:liy Substitytion  effect Explalln
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of d1agram stitution effec it
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